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1. (10%) ÞXbÝÑ�ó¶ì�!J4W 6 ���® 2010 X3�HÎ�¼\óR¼ÝÏ
¿��
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�n��¼\óR¼ÝÏ 2 ��

2. (15%) Ey��×ÑJó n��J 2011n − 2340n − 1713n + 2042n �|� 2086 Jt�
J��°�
2011− 2340 = −329, 2042− 1713 = 329, 2011− 1713 = 298, 2042− 2340 = −298,
=⇒ 298∗329 | (2011n−2340n−1713n+2042n), =⇒ 2086 | (2011n−2340n−1713n+2042n).

3. (15%) ' {ai} 
×Íb§ÝÑJóó���á a0 = 1001, a1 = x v ai+1 + ai = ai−1�
Í� i = 1, 2, . . .��®u�hó���¾Õt��J x T�
9K�
�n�x = 619.

4. (15%) Þ 1 Õ 13 ÝóCº½iw��wH�ß�Äb°Í8ÏóCÍõ��y 26�
J��°�¿àCTæ§�

5. (15%) �L 1! = 1, 2! = 1× 2, 3! = 1× 2× 3, . . .��JEy×�ÑJó n Ä��
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6. (10%) �0�Xb��Ý@ó r ¸ÿD3&ë@ó a, b, c ��9ìÝn;P
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a + b + c =
1

a
+

1

b
+

1

c
= r

abc = 1

�n�(x− a)(x− b)(x− c) = x3 − rx2 + rx− 1, r ≥ 3 or r ≤ −1.

7. (10%) ÞóC 1, 3, 4, 5, 7 páì«¼%XîÝ A, B, C, D, E �(�×�¶h5�)�u
�¸&aðËÐ�óCõª�4W×�-ó�� �®h�-ó�Ý� 4óÂ
¢�

�n��-ó�Ý� 4óÂ
 8�

8. (10%) �á ABCDEF 
| P 
�T�Ñ0\�v 4PQR 
Ñë���Ë%�8ø
�µAì�%Xî�A� AB = 5, SB = 2 v PQ = 8��O°\� SBTP Ý«��
�n�25
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